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The Learning Effects of Different Hiragana Instruction
for Users of Simplified and Complicated Kanji
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2 A C
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CN t
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2.507, p< .05 r (29.280) = 2.731, p< .05
t (40) =1.832, .05<p< .10
5
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(N = 23/25) (V= 19/17) t
A C B D

CN 85.41 (13.79) 69.24 (25.17) 2.507*

™ 84.53 (13.54) 64.57 (18.27) 4_069**

CN 81.06 (15.99) 62.81 (25.25) 2.731*
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™ 80.80 (15.74) 60.26 (21.72) 3.558%*
CN 73.53 (19.94) 61.40 (22.94) 1.832+
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t (40) = 1.692, .05 < p< .10

t (40) = .979, p > .10 t (40) = .848, p> .10
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CN 80.87 (20.82) 62.11(30.88) .259%
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CN 78.84(20.76) 56.84(25.47) .085**
™ 82.67 (17.85) 62.74 (26.25) .933**
CN 67.83 (26.49) 51.58 (22.20) .126*
™ 71.47 (25.13) 56.47 (25.51) .887+
CN 85.22(16.45) 66.32 (29.18) .513*
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™ 75.47 (18.43) 56.08 (22.98) 3.027**
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™ 77.60 (19.42) 52.55 (28.17) 3.417**
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p< .01 A(3,38) = 6.469, p< .01 A(3,38) = 3.707,
p < .05 A3,38) = 5.329, p < .01 A(3,38) = 4.371, p < .05
™

A(3,38) = 8.190, p < .01
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A (A13/13) B (M14/4)  C (ME10/12) D (AE5/13) F
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™ 91.28 41.67 73.33 68.23 7.377%*
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CN 73.33 44.76 60.67 70.67
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10
A (/£13/13) B (/=14/4) C (/£10/12) D (/E5/13) F
CN  70.94 (17.60)  46.98 (18.73) 56.22 (24.59) 74.67 (18.23)  4.330*
W  70.09 (17.60) 25.00 ( 2.13) 51.48 (21.65) 42.22 (22.44)  6.865**
+p < .10, *p < .05, **p < .01
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11
A (/£13/13) B (M=14/4) C (/£10/12) D (/£5/13) F

CN  62.05 (26.30)  40.00 (15.47) 57.33 (26.70)  70.67 (22.90)  3.224*

TW  72.31 (24.01) 21.67 (11.39) 52.78 (23.35) 42.56 (30.86)  5.217**

CN  69.23 (25.61) 42.86 (25.04) 56.67 (23.57) 72.00 (27.65)  3.075*

TW  70.26 (19.93) 21.67 (11.39) 45.00 (25.76) 35.38 (22.83)  7.707**
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#p < .10, *p < .05, **p < .01

* A= B= C= D=
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